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Ramona is throwing a party at her house to celebrate
thelr completion of their final exams. She invited all >
of her close friends and planned on a carpool.

- Conwnor
- Pawsown

- ELleen

- Frank

~ Justine

- Huatlee

- Kathleen

However, Ramona has just got her new car and she
wants to keep her car as new as possible so she tries to
keep the car from running unnecessary wmiles.
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Ramona mapped out all her friemds’
houses and the possible roads to each of
their houses. Each person’s first name
initial represent thelr home.



Mw{-‘ovtuwatel,g, Ramona only Rnows some of the
measurements. Below Ls the map Ramona maode:
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Ramona remembers learning trigonometry in maths

class. She going to to caleulate the distances between
the houses using trigonometry!
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Ramona started by caleulating the distances between
athleen, Hailee and her own place.
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while she was doitng so, she recelved a text message
from Frank. tHe said that his parents have to Leave
early for an event and he can't be Left alone, so
Ramona would have to pick him up first. Ramona
agreed and started caleulating the distance of all the
different paths to go to Frank’s house.

_Just as Ramona was starting to caleulate, Connor
called. Connor said he had FOMO (fear of missing out)
so he didn’t wanted to be in the carpool as early as
possible. Ramona dectded that she would pick him wp
after Frank.



Ramona Looked at the map she aLreaolg has:
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She couldnt figure out how

to start caleulating the

distances between Eileen,

Dawson, Connor ano her own

house! She ongj Rwnows =

angles and 2 stdes! A‘Pcer

deep thought, she realizea

that there are 2 pairs of
parallel Lines. She dectded

that she would start with the

triangle pertaining to her

house.
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Ramona’s plan is to pick up Frank first thew Connor
without picking anyowne else up on the way because of
their requests. She plans to bake a cake, but she has to
Leave her house before the cake is out of the oven. So she
has to return midway or else the cake gets burnt.

Kathleen and Eileen texted Ramona telling her that
thetr younger brothers has a play date with Dawson’s
younger brother at Dawson’s on the same day and
asked if their brothers could carpool with them and
thew drop thewm off at Dawson’s. Ramona was hesitant
but generous so she sacrificed her car’s extra wmileage to
pick up Kathleem and her brother after leaving her

place to turn off the oven and thew head to Eileen’s then
Pawson'’s.
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After the Listings she had to find the shortest distances
for all of her paths.
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So the total distance Ramona witll travel Ls:

1471, 4+24+3S+5,_2 t2-5+3.
+2. 6-{4 é = 29. 'Ikm
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After Ramona’s Careful planning, she piecked up all
her friends driving minimum distance while
fulfilling everyone’s needs. Ramona and her friends
all had a great time and enjoyed the delicious cake
Ramona baked! Kathleew, Eileen and Dawson’s
brothers also had a great time at their play date!

THE END



Ramona is hosting a party with her friends at her
place to celebrate the completion of their final exams.
She has to carpool all her friends to her place, but she

encounters problems and she wants to keep her new car
from running unnecessary distance...

what is she golng to do?
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